Jutge.org

The Virtual Learning Environment for Computer Programming

Recursive traversal of a general tree P66413_en

Write a program that reads the description of a general tree of natural numbers and prints
its postorder traversal.

In this exercise as well as in the rest of exercises of this section, unless the contrary is said
the description of a general tree consists of the number of nodes n followed by the pre-
order traversal, in which the value of each node is followed by its number of children. This
traversal has 2n elements.

For instance, the tree

wouldbedescribedas 12 73 80 42 31 01 60 50 24 90 10 8
0 50

To solve this exercixe as well as most of the exercises of this section, you will need to store
the tree in a vector. Do it using this code (slightly modified if it is necessary):

typedef vector <int> VE;

struct Node {
int value;
VE children ;

}

// Reads a tree and stores a part of the vector v starting at the position j.
// Modifies the variable j in order to indicates the following free position of v.
// Returns the position in c of the root of the read (sub)tree.
int tree (int& j, vector <Node>& v) {

inta=yj;

++7;

int f;

cin > v[a]. value > f;

v[a]. children = VE(f);

for (int i =0; i <f; ++i) v[a]. children [i] = tree (j, v);

return a;

int main() {



int n;

cin > n;

vector <Node> v(n);
int j =0;

tree (j, v);

}

Each position of the vector stores the value of a node, and the vector with the positions of
all its children from the left to the right. The position of the tree root is always 0.

Input

Input consists of the description of a general tree of natural numbers.

Output

Your program must print a line with the postorder traversal of the general tree. Each element

must be preceded by a space.

Sample input

12
73 80 42 31 01 60
50 24 90 10 80 50
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Sample output

8 6 0354918527



